

Q3) Write an equation of the tangent plane to the surface $z = x - \tan^{-1} yz$ at the point $(0, 0, 0)$.

$\vec{\nabla} f = f_x \hat{i} + f_y \hat{j} + f_z \hat{k}$
 $= \hat{i} + \frac{1 \cdot z}{1+(yz)^2} \hat{j} + \frac{y}{1+(yz)^2} \hat{k}$
 $\vec{\nabla} f(0,0,0) = \hat{i} + 0 + 0 \therefore \vec{n} = \hat{i}$

Tp: $1(x-0) = 0$
 $\Rightarrow \boxed{x=0}$

Q4) If $z = xy + x f\left(\frac{y}{x}\right)$, show that $x \frac{\partial z}{\partial x} + y \frac{\partial z}{\partial y} = xy + z$.

$z = xy + x f(u)$ where $u = \frac{y}{x}$
 $\frac{\partial z}{\partial x} = y + x f'(u) \cdot \frac{\partial u}{\partial x} + f(u)$
 $\frac{\partial z}{\partial x} = y + x f'\left(\frac{y}{x}\right) \cdot \left(-\frac{y}{x^2}\right) + f\left(\frac{y}{x}\right)$
 $x \frac{\partial z}{\partial x} = xy - y f'\left(\frac{y}{x}\right) + x f\left(\frac{y}{x}\right)$
 $\frac{\partial z}{\partial y} = x + x f'(u) \cdot \frac{\partial u}{\partial y} + f(u)$
 $\frac{\partial z}{\partial y} = x + x f'\left(\frac{y}{x}\right) \cdot \left(\frac{1}{x}\right) + f\left(\frac{y}{x}\right)$
 $y \frac{\partial z}{\partial y} = xy + x f'\left(\frac{y}{x}\right) + y f\left(\frac{y}{x}\right)$
 $x \frac{\partial z}{\partial x} + y \frac{\partial z}{\partial y} = xy + z$

Q5) If the maximum $Df(2, 1, -1) = 4$, and it occurs in the direction of $2\hat{i} - \hat{j} - 2\hat{k}$. Find $Df(2, 1, -1)$ in the direction towards the origin.

$\vec{\nabla} f$ in the same direction with $2\hat{i} - \hat{j} - 2\hat{k}$
 $\frac{2\hat{i} - \hat{j} - 2\hat{k}}{\sqrt{4+1+4}} = \frac{2\hat{i} - \hat{j} - 2\hat{k}}{3}$
 $\vec{u} = \frac{2}{3}\hat{i} - \frac{1}{3}\hat{j} - \frac{2}{3}\hat{k}$
 $\vec{u} = \frac{2}{3\sqrt{6}}\hat{i} - \frac{1}{3\sqrt{6}}\hat{j} - \frac{2}{3\sqrt{6}}\hat{k}$

$Df = \vec{\nabla} f \cdot \vec{u}$
 $= 4 \cdot \left(\frac{2}{3\sqrt{6}} - \frac{1}{3\sqrt{6}} - \frac{2}{3\sqrt{6}} \right)$
 $= \frac{4}{3\sqrt{6}} \cdot (-1) = -\frac{4}{3\sqrt{6}}$

Q3) Write an equation of the tangent plane to the surface $z = x - \tan^{-1} yz$ at the point $(0, 0, 0)$.

$\vec{\nabla} f = f_x \hat{i} + f_y \hat{j} + f_z \hat{k}$
 $= \hat{i} + \frac{1 \cdot z}{1+(yz)^2} \hat{j} + \frac{y}{1+(yz)^2} \hat{k}$
 $\vec{\nabla} f(0,0,0) = \hat{i} + 0 + 0 \therefore \vec{n} = \hat{i}$

Tp: $1(x-0) = 0$
 $\Rightarrow \boxed{x=0}$

Q4) If $z = xy + x f\left(\frac{y}{x}\right)$, show that $x \frac{\partial z}{\partial x} + y \frac{\partial z}{\partial y} = xy + z$.

$z = xy + x f(u)$ where $u = \frac{y}{x}$
 $\frac{\partial z}{\partial x} = y + x f'(u) \cdot \frac{\partial u}{\partial x} + f(u)$
 $\frac{\partial z}{\partial x} = y + x f'\left(\frac{y}{x}\right) \cdot \left(-\frac{y}{x^2}\right) + f\left(\frac{y}{x}\right)$
 $x \frac{\partial z}{\partial x} = xy - y f'\left(\frac{y}{x}\right) + x f\left(\frac{y}{x}\right)$
 $\frac{\partial z}{\partial y} = x + x f'(u) \cdot \frac{\partial u}{\partial y} + f(u)$
 $\frac{\partial z}{\partial y} = x + x f'\left(\frac{y}{x}\right) \cdot \left(\frac{1}{x}\right) + f\left(\frac{y}{x}\right)$
 $y \frac{\partial z}{\partial y} = xy + x f'\left(\frac{y}{x}\right) + y f\left(\frac{y}{x}\right)$
 $x \frac{\partial z}{\partial x} + y \frac{\partial z}{\partial y} = xy + z$

Q5) If the maximum $Df(2, 1, -1) = 4$, and it occurs in the direction of $2\hat{i} - \hat{j} - 2\hat{k}$. Find $Df(2, 1, -1)$ in the direction towards the origin.

$\vec{\nabla} f$ in the same direction with $2\hat{i} - \hat{j} - 2\hat{k}$
 $\frac{2\hat{i} - \hat{j} - 2\hat{k}}{\sqrt{4+1+4}} = \frac{2\hat{i} - \hat{j} - 2\hat{k}}{3}$
 $\vec{u} = \frac{2}{3}\hat{i} - \frac{1}{3}\hat{j} - \frac{2}{3}\hat{k}$
 $\vec{u} = \frac{2}{3\sqrt{6}}\hat{i} - \frac{1}{3\sqrt{6}}\hat{j} - \frac{2}{3\sqrt{6}}\hat{k}$

$Df = \vec{\nabla} f \cdot \vec{u}$
 $= 4 \cdot \left(\frac{2}{3\sqrt{6}} - \frac{1}{3\sqrt{6}} - \frac{2}{3\sqrt{6}} \right)$
 $= \frac{4}{3\sqrt{6}}$

Q6) $\lim_{(x,y) \rightarrow (0,0)} \frac{\sin xy}{xy^2 + 2xy}$

$= \lim_{(x,y) \rightarrow (0,0)} \frac{\sin xy}{xy(y+2)} = 1 \cdot \lim_{y \rightarrow 0} \frac{1}{y+2} = \frac{1}{2}$

3

use $\lim_{x \rightarrow a} f(x)g(x) = \lim_{x \rightarrow a} f(x) \lim_{x \rightarrow a} g(x)$

Q7) Find and classify the criticals for local maximum, minimum or saddle for the function $f(x, y) = 3x - x^3 - 2y^2 + y^4 + 5$.

$P_x = 3 - 3x^2$

$P_x = 0 \Rightarrow 3 - 3x^2 = 0$

$3x^2 = 3$
 $x^2 = 1$
 $x = \pm 1$

$x = 1$
 $x = -1$

$P_y = -4y + 4y^3$

$P_y = 0 \Rightarrow 4y(-1 + y^2) = 0$

$y = 0$ or $y^2 = 1$

$y = 0$
 $y = 1$
 $y = -1$

7

$P_{xx} = -6x$

$P_{yy} = -4 + 12y^2$

$P_{xy} = 0$

~~$D = P_{xx} \cdot P_{yy} = (-6x)(-4 + 12y^2)$~~

- pts $\phi(1,0)$ $\phi(-1,0)$
 $\phi(1,1)$ $\phi(-1,1)$
 $\phi(1,-1)$ $\phi(-1,-1)$

$D = P_{xx} \cdot P_{yy} = (-6x)(-4 + 12y^2)$

① $-6 \cdot -4 = 24$

$D > 0$ $P_{xx} < 0$

Local max on pt $(1,0)$

② $-6 \cdot 8 = -48$

$D < 0$

saddle

③ $-6 \cdot 8 = -48$

$D < 0$

saddle

④ $6 \cdot -4 = -24$

$D < 0$

saddle

⑤ $6 \cdot 8 = 48$

$D > 0$ $P_{xx} > 0$

pt $(-1,1)$

Local min

⑥

$6 \cdot 8 = 48$

Local min $(-1,-1)$